0002177542287999

0O BEEERXY 0—0—

2016 45 REFTFHB 25 2

2 | MFORETEDSNBEH {an} 5.

al = %7 an+1 = ﬁan + % (n = 1> 27 37 “')

(1) {an} OBGEBI {by} % by = ane1 —an (n=1, 2, 3, ) TEDS. {by} FELEHIT, WHE
Ak L ey, p=[13] ¢= L. WAL, {by) O nE

107

rui, r=[1 ], s= YBB. XBIT, {a,) O 0,
1 1
I, (i)

a, = a1+ > b, = il

k: 1= 10°
rkBNE. 22T t=[W ], u=[2], v= [ ] TH3.

n
2) Su= % —gt—— (=1, 2 3, ) B BHR
k=1 10" apap+1
23 24 25 26
b _[B1o]  [BI1B] ,_, ,, .
apap+1 ag Ar+1

HVTCEET D L,

10“’(1 — %)
B 10
Sn - 1

v5%. 22T, w=[Z ], x=[B], y=[B ] 2= [30] Th3.

(3) (100" —1)S, & [ 31 |n+ [ 32 [ 33 | Mio#EBUz % 5.

1

107




